What could the absolute value of an ordered pair mean?
means the distance (4,-1) is from

Absolute Value:
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What could the absolute value of a Complex Number mean?
_ . +o0
‘5 + 0 ’= 2 means ’Fhe distance 5+2i is from
the origin. .
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Find the absolute value of this complex
number.
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Problems 6-8, 17, 18, 20, 21, 59, 60

Due tomorrow

Find the absolute value of this complex
number.

6il = | © +6i |
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i= J-1

2 = GF)" - -

When simplifying, every i can be replaced
with -1 then look to continue simplifying.



Simplify each.

7ic2 = 8i)

When dealing with Real Numbers only:

2. (1+6i)4 - 3i)

(x+ 5)(3x + 2) is a Trinomial
= 4L - 86 %= L4l When dealing with Imaginary Numbers only:
= Y - - (5 +1i)(2 + 3i) is a Binomial
U ~56() C19)D
= 40 FS4 The product of two imaginary numbers is
: Another | i Number.
= (56 119, 25 +ZlL nother Imaginary Number
Simplify: Simplify:
piity piity
(7 + 9i)(3 - 2i) (1+50* = (+s5)(4 +6‘¢>
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(x + 5% is never just 2 terms!!!
(a+b)?=a’+ 2ab + b?

(x +5)2= (x)? +2(1)(5)x + (5)°

=x2+ 10x + 25
Simplify.
(3 - 4i)?
= -4
? 1 |12 o 3L~Z(%>(VL>+(VOL
= Ol—QLfb ‘f\‘/\/,(ai
: 1 (=)
=1 -t s 7-290-16

=~ (- 7-294,

However.......

(1 + 592 = (1) +2(1)(50) + (5i)°
= | +l0L +25LF: ) 0l —25

25 (-0
When you square a complex number you get

another complex number.

-29 10|,

Simplify.
(4 + 2i)(4 — 2i)




When a and b are REAL #'s

Simplify each. e,
(2x-3)(2x+3) 2.2 3i)(2+ 3)
X —3 With Imaginary Numbers:
(a + bi)(a - bi) = a® + b? LA P
U\%XL e _i ZL . 'OLC:)‘— a+Ho
P3| x| =9

(4 +20)(4 - 2i) =~ (N ey =

(5] 1= S N AR O

Factors such as (a + b) and (a - b) Complex Conjugates: a+bi and a - bi
r Il N ATE . .
are called CONJUGATES (Z\+4')(7'4')= R e 49+l =63
Conjugate
e A=
The conjugate is where we change the sign in the middle of two terms like this: b ;LF
3x +1
3x -1

The product of complex conjugates is always
a constant



Simplify each. j= JOT =i

1. (9-5i) 2. (6 -3i)(6 + 3i) P= ()= L :
9 - 5L = t-L=(p()y=-C
? = (& + (37 it= (F-LT= COGn=1
-50|-15¢| T8 = 37 P= Lblll= (06 = L
5b _ L{S i6: | —./ ’ —/‘ o (
. : BV SN OIOIOR
- Sé \70(_' Powers of i repeat every 4: |
i=i 5 =i P=i =
2=-1 6= 0= "=
i® = - i7 = - im=_ 5=. etc.
i4=1 i8=1 i12=1 i16=1
Simplify each.
e
1. 7i(5 + 2i) 2. (3i)2i)(2i) =
. 5 2
= 250U + Iur ds _ 2% L—b
= 250 +11(-) = 20(-0)
= 33— 1Y = (-35(

= - +3SC



3. (-2i)(10i)(i)(4i) = You can now finish Hwk #16
Sec 5-6
. .7
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= (=) () =~ Problems 37, 40, 50-52, 57, 62, 65



